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Physics
Worksheet – Centripetal Problems 2 
1. What is the minimum speed a loop-de-loop roller coaster must have at the top so that the passengers won’t fall out if the radius of the loop is 7.4m?
2. A 2kg bucket is swung vertically in a circle with a radius of 1.1m.  At the lowest point of its motion the tension in the rope supporting is 25N.  What is the speed of the bucket? How fast must the bucket be moving at the top of the circle so that the rope does not go slack?

3. Tarzan is swinging across a ravine on a vine.  His arms are capable of exerting 1400N of force on the vine.  What is the maximum speed he can tolerate at the bottom of the swing if the vine is 5.5 meters long and his mass is 80kg?

4. A jet fighter is flying in a vertical loop at 1300km/hr.  What is the minimum radius of the loop if he wants to keep the centripetal acceleration at or below 6 g’s?

5. A train is travelling at a constant speed around a corner with a radius of 235m.  A lamp hanging from the ceiling swings out to an angle fo 17.5o from vertical.  How fast is the train moving?
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